N = 0 & AF S 99 N A
2015 &= 20l A 2B H RS E
2A4: od=en
B =9 M L
Chol: RO AT B E (el @2)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
2 0la 8 28,024,210 23,328,983 4,695,227
= 1,610,111
Xl 4,904,800
J| 3,900,340
= 3,120,052
Al 14,488,907
S Z2¥A LG 24,791,550 22,011,582 2,779,968
= 610,111
Xl 4,904,800
J| 3,900,340
= 2,120,052
Al 13,256,247
20 M AD| B = 10,896,484 9,847,651 1,048,833
= 360,111
Xl 1,408,550
J| 2,733,340
= 1,361,692
Al 5,032,791
A0 XoeEsEs(EX) 745,074 876,491 A 131,417
= 360,111
= 115,489
Al 269,474
402 SI2FXHE0| M 745,074 876,491 N 131,417
= 360,111
= 115,489
Al 269,474
01 A2t SAEE =X 745,074 876,491 AN 131,417
OAE0 SHESI D] X&
208,690, 000& *60% 125,214
= 62,607
= 18,782
Al 43,825
OAE2N UEE2HE K&
956,520, 000& *50% 478,260
= 191,304
== 86,087
Al 200,869
ONMERN XNSH-ZHHEAIE XA
177,000, 000& *80% 141,600
= 106,200
== 10,620
Al 24,780
SMEMNSHED 105,000 160,000 A 55,000
402 SI2F X0l M 105,000 160,000 A 55,000
01 A2t SAIE E X 105,000 160,000 A 55,000
OsMEaNMS2HED AX
7,000,000& *30= *50% 105,000
oSO = 2,300 2,300 0
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XNZEH: = AXHaA
oSS S8 S o.

23t
CHol: A0 M AD|B RS CER-ED
4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
202 o4dl 1,500 1,500 0
01 = LH o4 1l 1,500 1,500 0
OXNEEsE=EsL Ad&X #IX0OHY
50,000& 30 1,500
301 L2 A= 800 800 0
09 HALAHIEA S 800 800 0
CRNS&E=I M2U= 20,000& 40X 800
DHXNUHMH=MEZNSE(BEX) 324,000 324,000 0
Xl 270,000
Al 54,000
402 RIZ2ER201 ™ 324,000 324,000 0
Xl 270,000
Al 54,000
01 It =2 AL B X 324,000 324,000 0
ODNHXNUNES IHE2I=EH
540,000, 000& *60% 324,000
Xl 270,000
Al 54,000
UEHEBS}LFELHNSH(EX) 180,000 216,000 A 36,000
Xl 150,000
Al 30,000
402 2I2H X201 M 180,000 216,000 A 36,000
Xl 150,000
Al 30,000
01 It =2 AL B X 180,000 216,000 236,000
OUEEES ¢ +5HI S4(EX)
00,000, 000& *60% 180,000
Xl 150,000
Al 30,000
A R0 M A DB = 63,500 143,500 A 80,000
402 2I2H X201 M 63,500 143,500 A 80,000
01 It 2 AL B X 63,500 143,500 A 80,000
OdME 2FIMg X&
28 12,000,000 #2583 x50%+= & 7,000,000 60,000
*103 *50%
Oltg 3dus =823 3,500
AUAESS (202 HIIIEIRA AME X&) 500,000 600,000 A100,000
402 QI2H X201 M 500,000 600,000 A100,000
01 B2t AL E X 500,000 600,000 A100,000
O2W&EE BIJIY oA
20,000& *50,000m" *50% 500,000
NEESESHILEIRA EX(BX) 1,056,000 930,000 126,000
Xl 880,000
Al 176,000
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MZH: = A XHead I
L= B =} -
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=

SRl ROIMADIBRE (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 RI2EX20l A 1,056,000 930,000 126,000
Xl 880,000
Al 176,000
01 It 2 AL E X 1,056,000 930,000 126,000
ONIEsEZ(HLoteA) K&
1,760,000,000& *60% 1,056,000
Xl 880,000
Al 176,000
ANE2W EERMNLAL(EX) 7,598,350 6,249,925 1,348,425
J| 2,679,340
= 1,205,703
Al 3,713,307
402 BI2EX=20| M 7,598,350 6,249,925 1,348,425
J| 2,679,340
< 1,205,703
Al 3,713,307
01 It AL E X 7,598,350 6,249,925 1,348,425
OAMEJUSEMNLAY  13,236,700,000& *50% 6,618,350
J| 2,647,340
< 1,191,303
Al 2,779,707
ONEZUHSEMNLAS (EET AWl 012 E) 900,000
OXDFHIJIE X & At 160,000, 000& *50% 80,000
J| 32,000
< 14,400
Al 33,600
FHA=SASIIEEY 3,000 0 3,000
203 YR =2l 3,000 0 3,000
03 AIEFAH S =AY 3,000 0 3,000
OU3E Al#Z=AH 3,000
ANEHUICTE=E 135,000 0 135,000
J| 54,000
< 24,300
Al 56,700
402 2I2H X201 M 135,000 0 135,000
J| 54,000
< 24,300
Al 56,700
01 B2t AP E X 135,000 0 135,000
OAMZJUICT =8 270,000, 000& *50% 135,000
J| 54,000
< 24,300
Al 56,700
FIAZL RS Z2Ma HI(EX) 130,260 0 130,260
Xl 108,550
Al 21,710




SN 206 2D
MZH: = A XHead I
L= B =} -

i
=

CHol: A0 M AD|B RS (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
402 SI2FXHE0| & 130,260 0 130,260
Xl 108,550
Al 21,710
01 QIZEXIE2AIE 2 X 130,260 0 130,260
OFTA &2 2 M 217,100, 000& *60% 130,260
Xl 108,550
Al 21,710
ANESIRA 228D X (EX) 54,000 0 54,000
= 16,200
Al 37,800
402 SI2vXHE0| & 54,000 0 54,000
& 16,200
Al 37,800
01 QA XSAIEE =X 54,000 0 54,000
OANHESIRA 2E 48D XS
90,000, 000& *60% 54,000
o= 16,200
Al 37,800
SHERESE L3 1,816,600 1,361,442 455,158
= 250,000
N 436,250
o=} 114,000
Al 1,016,350
sSMASEHHE LG 25,600 10,600 15,000
201 et 15,000 0 15,000
03 Al AHH| 15,000 0 15,000
O=EANE2 EHHAN(KNGHEYE, OIIIE &) 2
o o sy 10,000
OE=s 243 E {8t N2 H3HESHE 5,000
202 o4 | 2,000 2,000 0
01 2L I 2,000 2,000 0
O=SM2 BEHE 8 50,0008 x4 *102 2,000
301 et A= 3,600 3,600 0
09 SHAIAHI B A2 3,600 3,600 0
OsS&MZE NI A BHERR EIIE A 3,600
307 QI2t0| ™ 5,000 5,000 0
02 A2t AMAIE E X 5,000 5,000 0
OO0l SSHS SHHA AA
,500,000& 23| 5,000
SSENNEEEXS 508,000 88,200 419,800
201 et d| 94,000 74,200 19,800
01 AP 2t 2] d| 94,000 74,200 19,800




A Eos=2l

B =9 M L
ool sM2RSEAE (el @2)
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
ONSsEns Eoule SRe A
2,000& *4,000% 8,000
OF&e 20 & ZEEH=E 60,000
Ozefel 222 M= 1,000& 5,000 4= 20,000
02015 S =sS4&S EXPO =
5,000,000& =13l 5,000
O=S4E BEHA EH E= 1,000
307 21201 A 14,000 14,000 0
02 LB AAFER 14,000 14,000 0
OL3A0HEH 4EE 2 B=H X
20,000,000& =14l x70% 14,000
401 AIEHI L 2 CHYI 400,000 0 400,000
01 A& HI 400,000 0 400,000
O=Fge 2Zns & 400,000
SSNUSEBXNE(EX) 85,000 35,000 50,000
< 34,000
Al 51,000
307 21201 A 85,000 35,000 50,000
< 34,000
Al 51,000
02 It S AHE L 85,000 35,000 50,000
OsS4ts gL el 2483 X& 85,000
< 34,000
Al 51,000
SE0AHE 243 NE(BX) 480,000 1,200,000 A720,000
Xl 300,000
Al 180,000
307 glz2tol & 280,000 400,000 A 120,000
Xl 175,000
Al 105,000
02 IZtE A AHEE 280,000 400,000 A 120,000
OMMTI=Zst & SSOHAHE -3 A
350,000, 000& *80% 280,000
Xl 175,000
Al 105,000
402 RI2EX=20| A 200,000 800,000 A 600,000
Xl 125,000
Al 75,000
01 It 2 AL E X 200,000 800,000 A 600,000
OSEOHE A ZFat JIBt2F ALY
250,000, 000& *80% 200,000
Xl 125,000
Al 75,000
sdE ZSEG 20 KNJ(EX) 500,000 0 500,000
= 250,000




A Eos=2l

X{ XH -
S =

= - — SHE|
A+ ZE S (3A) - HRA - By S e Hl D= 2t
< 80,000
Al 170,000
307 glz2+ol & 500,000 0 500,000
= 250,000
< 80,000
Al 170,000
02 HAFHAANFEX 500,000 0 500,000
O=sttE 3SE0 &0 XA 500,000
= 250,000
< 80,000
Al 170,000
dME 27 4 2& EHl XA 218,000 0 218,000
Xl 136,250
Al 81,750
402 RI2EXt20| M 218,000 0 218,000
Xl 136,250
Al 81,750
01 BI2tt=2 AP E X 218,000 0 218,000
OsttE 27 4 2& FHl NI AMY
272,500,000& »80% 218,000
Xl 136,250
Al 81,750
LB AEEd 530,000 360,000 170,000
< 108,000
Al 422,000
AIE, sSAS0HHE XA 130,000 130,000 0
307 glz2tol & 30,000 30,000 0
02 LB AAFEX 30,000 30,000 0
O=H AS=Es XA
2,000,000 =100 & I 20,000
OFF==HZsASAALE FIXH
2,000,000 50 & Xl *13] 10,000
308 XXIEHH SOl A 100,000 100,000 0
07 IXNSHH2AURE = 100,000 100,000 0
QNet=EE sEUSHIS(HAANRES) 100,000
E R DR 40,000 40,000 0
307 Qiz2tol & 40,000 40,000 0
02 It S AHEL 40,000 40,000 0
OsSHg +8AE N
2,000,000& 1070 & Xl 23] 40,000
SSNMESEXNE(BEX) 360,000 70,000 290,000
< 108,000
Al 252,000
307 21201 A 360,000 70,000 290,000




AN Hos=En

HE: =9 FMY L
&©e sdIEAERA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 108,000
Al 252,000
02 LB AAFEX 360,000 70,000 290,000
OtldsttE =22 JHl XNAAS 360,000
< 108,000
Al 252,000
SEMHSY 7,484,886 7,155,239 329,647
Xl 2,335,000
< 400,000
Al 4,749,886
[ R=REc RS = e =] 104,834 77,872 26,962
101 @124l 26,784 16,672 10,112
04 JIZHHZ2XNSE+ 26,784 16,672 10,112
OslEzd 2=+ A &£ M=2g o2l
44,6403 10 x 102 63! 26,784
201 Let24dy] 29,600 26,100 3,500
01 At 2teltl 11,000 11,000 0
OslEzd 2=+ 22l Xt
1,000, 000& 53] 5,000
OslEzd 2=+ 2l 500,000& = 12& 6,000
02 =224l 18,600 15,100 3,500
Osl2Zasgi+ 2els HgERr 7
1,500& %204 =150 4,500
OsleZd2sgdX+ HI|, SR
500,000& = 12& 6,000
OHSABSYNT 4545 23
300,000 =12& 3,600
Osl2Z s+ ALFHIKXH
500,000 =33l 1,500
OXeldtsi8del EHOIX |2 3,000
202 044l 3,200 2,000 1,200
01 SLHOIYI 3,200 2,000 1,200
Oosleady g4 & #X0HE
80,000 x5H 83 3,200
206 M= Hl 35,250 30,250 5,000
01 MHZ 8l 35,250 30,250 5,000
OslEadasgil+ z8t8 & S
5,000, 000& =32 15,000
OoslEdasgil= ds2e e
2,000, 000& 23] 4,000
OslEgda=sgXN+ |28 MM 2
2,500,000 23] 5,000
OslEdasgils Relad vER ¢ 11,250
402 RI2EXt20l 10,000 0 10,000




2A: AMdE
I =of HMA 25
(=R B

ol B MR CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 It =2 AL EE 10,000 0 10,000
OXleldh 38 JIs8H 10,000
slEYe] 303,268 268,359 34,909
101 @124l 98,268 91,539 6,729
04 JI2ZtHZ22HEE = 98,268 91,539 6,729
OslEdelZd 224 & oE Asd 2
DI el 24l 44 640 x1H x312 13,928
OXlelst NdASSAZSE ME=2Y JI2HH
als] 44 6403 *20H 252 %23 44,640
OXiclat A ssd33E JAM=A It
el 24yl 68,6903 x4H x5 43 5,496
OdEgCZE =T FIART JI2tH 12|
44,6402 «8H 302 10,714
OslEdelZsd SSs&4 2l JI2HM 1Al
44 640 +2H +702 6,250
OslEdelad M=Eel JI2HM el
44 6402 «10Y x102! x33] 13,392
OclEdelEsd =AY JI2HH 1At
68,690 x4H 22 23| 1,100
OclE=H d&2el & M=JIAEY A
68,690 x5 82 2,748
201 Let2d] 99,100 89,420 9,680
01 At 221l 23,300 20,300 3,000
OdlEgCSE =tdd HAES % FLAES
-2 4,500
OslEdelzd =xt&el g9+3 7Y
600,000 »3+ A 1,800
OslEdelsd g2 cl2x € €20 A 6,500
OFBWeIZa AR 29 2E7Y
500,000& x10& 5,000
OsZweZd &Y 222 7
200,000& x5H +23] 2,000
OclEZeZd =H 22X Al
5,000& «20 =302 3,000
OsSwelZa 2ols g 87 7Y
250,000& »23| 500
02 =224l 75,800 69,120 6,680
OslEdel3d A, sde3
2,800,000& +12& 33,600
OslEdel3d o=k 23 14,000
OslegelZASY A& L FHIRX Y
2,000,000& 138|635 12,000
OdlEdCZSE 2cls MR 2R 2
1,500& *2,0004 3,000
O&J|ctEze s 2 600,000 122 7,200




2L 2
X FH -
o Tt

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o dio = HImEET
0 &
Ooedelsd EsX2eltl
5,000, 000 *1CH 5,000
OslE¢gels3d dsXKXAH 1,000,000 «1CH 1,000
202 4l 6,400 6,400 0
01 = LH 4 HI 6,400 6,400 0
Osledelxyd 23 #Xor
100,000& 5% »23] 1,000
Ooledel 22X 5,400
206 M= Hl 47,100 48,600 A 1,500
01 =4l 47,100 48,600 A 1,500
OXelatitdA =832 d =8 H 2
5,000& *1,500% 7,500
OXelMItdAZSSHISH 37 & 7Y
7,000 *200 2 +2& 2,800
ONEMTMYASHATE 5% S HE 2Y
0,000& *50& +33] 3,000
OXeclMItdASSHISH JIHWAAY A3z
-+ 2,000& *9004 1,800
Oslegel3d F=&EH 2 3,500
OXEMTMASTH ZHE OHM3 2
800& *5,000=F 4,000
OsEdelsd Hlg & N 2
100,000& »15& 1,500
OslEdelsd 22 =2+
3,000& *1,500=F 4,500
OB Ed dEA=E ASE ot=2+¢
1,000& =1,5004 1,500
OslEdgelsd 2d+ & o222 sJI7 S
AHTH = & 50,000& *20& *23] 2,000
OclEAESd sZ2)| HER ¢ 15,000
307 21201 A 2,400 2,400 0
05 BIZHRI & 3 2,400 2,400 0
OslEdelsd 2els ReIHAMEIAZ
200,000& 128 2,400
401 AIEHI L 2] 50,000 30,000 20,000
01 A& Bl 50,000 30,000 20,000
OXleldt si8del AlId=23l 50,000
NelsrH 22 (ReldsBdel 24 )(EX) 5,735,000 5,500,000 235,000
X 1,535,000
Al 4,200,000
401 Al HI K 201 I 5,735,000 5,500,000 235,000
Xl 1,535,000
Al 4,200,000
01 A& HI 5,720,663 5,408,700 311,963




2A: AMdE
I =of HMA 25
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Sl BB MYSY CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O E=SgEIOI2 A= A&
5,735,000,000& *x99.75% 5,720,663
Xl 1,535,000
Al 4,185,663
03 A& =TI 14,337 13,750 587
OGlESEEL o2 &M= AIZ20 14,337
SIESH 41,784 55,008 A13,224
101 @124l 26,784 25,008 1,776
04 DIt 22 HEE = 26,784 25,008 1,776
OZ&ax4d el 44,6403 «20H x 102! «33] 26,784
307 g1+l & 15,000 30,000 A 15,000
02 PIZHEHAHEE 15,000 30,000 A 15,000
OAMAZE =X H2020E K& 15,000
SIBAS .28 &4Fs SHAHMY 1,300,000 0 1,300,000
Xl 800,000
< 400,000
Al 100,000
307 glz2+ol & 785,000 0 785,000
Xl 480,000
< 255,000
Al 50,000
02 HAFAANHFEX 785,000 0 785,000
OSclAH AIEEH2Y 80,000
Xl 40,000
< 20,000
Al 20,000
Ou=s & AOoILt 40,000
Xl 15,000
< 25,000
OS=Atddl #IXI0H2 10,000
X 5,000
< 5,000
Ossg4dst 160,000
Xl 100,000
< 60,000
OdEMSHE R 90,000
X 75,000
< 15,000
OEHE, ZTZOIXC HY 30,000
Xl 20,000
< 10,000
OJlsd &35 gaAe 70,000
Xl 50,000
< 20,000
O&A0AHE 50,000
Xl 20,000




2L 2
X FH -
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= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il HImEET
< 30,000
Os=20HAHE 100,000
Xl 40,000
< 30,000
Al 30,000
Oslede g2 105,000
Xl 80,000
< 25,000
OslEXNEg=sd 2435t 40,000
Xl 30,000
< 10,000
OXNE8Zz & e 10,000
Xl 5,000
< 5,000
401 Al HIZ 201 Y] 200,000 200,000
Xl 75,000
< 75,000
Al 50,000
01 A& HI 198,560 198,560
Odzdsgil+s =24 198,560
Xl 75,000
< 75,000
Al 48,560
03 AIE2 2 THHI 1,440 1,440
OgdasgX+ =4 =20 1,440
402 RI2EX=20| A 315,000 315,000
X 245,000
< 70,000
01 It 2 AL E X 315,000 315,000
OJIEAIE &Sist 234,000
X 195,000
< 39,000
OJZ a0 2= 81,000
Xl 50,000
< 31,000
SXMM JBRE 4,063,580 776,330
X 725,000
J| 1,167,000
= 136,360
Al 2,035,220
EEMAMGT XY 971,750 328,250
402 QI2H X201 M 971,750 A 328,250
01 B2t AL E X 971,750 A 328,250
OZZMuEX 54 800,000
OdoieXNE 22 IX& 100,000
OZ& XSHHIl XA 71,750
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SRl BASTMA IS CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DEE =44 XA 280,000 260,000 20,000
402 RI2FX=20| M 280,000 260,000 20,000
01 It 2 AL E X 280,000 260,000 20,000
Ol UsH ALESAZYOIN X
20,000,000& *20CH x50% 200,000
Ot M2TlcH ol K&
500,000& *160ha*50% 40,000
ONAFAXXH 16,000, 000& *5CH x50% 40,000
QO MAHIISH(BX) 180,000 0 180,000
Xl 150,000
Al 30,000
402 RIZFR201 A 180,000 0 180,000
Xl 150,000
Al 30,000
01 A=A EX 180,000 0 180,000
OO AHISH 180,000
X 150,000
Al 30,000
FTADt A M AAI S THEH(E X) 750,000 876,250 A 126,250
J| 300,000
= 135,000
Al 315,000
402 RI2HXt20| ™ 750,000 876,250 A 126,250
J| 300,000
< 135,000
Al 315,000
01 BI2tt=2 AP E X 750,000 876,250 A 126,250
OFTA & MEAIE S TSt 750,000
J| 300,000
< 135,000
Al 315,000
LHAG (EX) 4,080 0 4,080
< 1,360
Al 2,720
402 RI2EX=201 A 4,080 0 4,080
< 1,360
Al 2,720
01 It 2 AL E X 4,080 0 4,080
OLE A 4,080
< 1,360
Al 2,720
DHIMAEESFHISH(BX) 54,000 54,000 0
Xl 45,000
Al 9,000
402 RIZ2FXt20l ™ 54,000 54,000 0
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Xl 45,000
Al 9,000
01 A=A EX 54,000 54,000 0
ODdXAUE S I =4 54,000
X 45,000
Al 9,000
DX AAUEESHR SH(XHA) 54,000 54,000 0
402 RI2EX20| ™ 54,000 54,000 0
01 B2t AP E X 54,000 54,000 0
ORI AHUB SR &4 54,000
DHINUHME=SZESH(EX) 540,000 540,000 0
Xl 450,000
Al 90,000
402 RI2EX=201 A 540,000 540,000 0
X 450,000
Al 90,000
01 It 2 AL E X 540,000 540,000 0
ONHXNUHMHE=SEESY 540,000
Xl 450,000
Al 90,000
SR YL 50,000 100,000 250,000
402 RI2EXt20l ™ 50,000 100,000 250,000
01 It =2 AL E X 50,000 100,000 A 50,000
OEHMEZHAN =4 50,000
FTARtA M AD[BEEH (B X) 1,083,750 0 1,083,750
J| 867,000
Al 216,750
403 A X EHHS =0l A 1,083,750 0 1,083,750
J| 867,000
Al 216,750
02 S| 2SO0l CHEHCH & Ar B 1,083,750 0 1,083,750
OFTA DA M SMACTIIIBIEE(ES) 796,250
J| 637,000
Al 159,250
OFTA LA M SMATIDIIBZ A (YY) 287,500
J| 230,000
Al 57,500
NELASHMUTAL(EE) 96,000 0 96,000
Xl 80,000
Al 16,000
402 RIZEXtE0| A 96,000 0 96,000
Xl 80,000
Al 16,000
01 ATt EAEEX 96,000 0 96,000




AN H0dED
HE: =9 FMY L
SRl BASTMA IS (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSSN =4 96,000
Xl 80,000
Al 16,000
TESASNEE SHAHZ LAY 3,074,200 1,164,200 1,910,000
= 1,000,000
< 1,000,000
Al 1,074,200
dE3dsAad 3,074,200 1,164,200 1,910,000
= 1,000,000
= 1,000,000
Al 1,074,200
e oEZF 2HAH =4 64,200 1,134,200 A 1,070,000
201 Let24E] 11,200 11,200 0
01 At 22l 11,200 11,200 0
Oget=&H| 5,200
O%ds 22+ 6,000
202 044l 4,000 4,000 0
01 = LH o4 1l 4,000 4,000 0
OJIg R, HXOHE, AASEA S 4,000
307 21201 A 49,000 118,000 269,000
02 IS AMHEL 49,000 118,000 A 69,000
OCIXtel iy & E2 OIHE K&
7,000,000 200 & X 14,000
O&asE - FEI&Es KA 5,000
OK-REl HHAE X3 30,000
Zetd EE SHAH 2H(BX) 3,000,000 0 3,000,000
= 1,000,000
< 1,000,000
Al 1,000,000
402 RIZ2FXt20l ™ 3,000,000 0 3,000,000
= 1,000,000
< 1,000,000
Al 1,000,000
01 A=A EX 3,000,000 0 3,000,000
O EZ COMP MAAIE R (ERASES LY
ANAHE XH) 3,000,000
= 1,000,000
= 1,000,000
Al 1,000,000
e ot&ES MOoIL 10,000 30,000 A 20,000
201 LBt2H| 10,000 30,000 220,000
03 &At2 I 10,000 30,000 220,000
O=&asE M 28XY 32 FNd Maltt
N = 10,000, 000& =13l 10,000
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CEFE2gIL(2usEn)

D o o
D oE 24

H0 M

SH - BAEA) - MRAY - BES Of &t o il
HY2IZH (FUED) 158,460 153,201
el 2 89,960 84,701
g =gl 89,960 84,701
101 124 H] 89,960 84,701
03 RIAHAZZ2NE > 89,960 84,701
OYREX(HFEEX 19) 26,938
s 1,166,220+ 122 13,995
a0 1,166, 220+400% 4,665
WS 22| 120,000 x12& 1 1,440
Y HgAH 130,000& *x12& 1 1,560
AN22RaE  7,1358+1.5%x15A1 2tx123 1,927
FEFIHI(E, F=4) 1,166,220 «120% 1,400
A2 A 7,135 x8A 2tx 10 571
] 75,000 x12& 900
telg st 40,000 x12&8 480
Osl2gel(Aes2el 29) 63,022
== 1,260,000 «128 »2H 30,240
d0= 1,260,000%400%*2H 10,080
wEs2 2l 120,000& »12& »2& 2,880
A g A 130,000 128 +2& 3,120
ANt 2e+¢
7,6563 *1.5%15A1 2t 128 +2H 4,135
HEFIHI(E, &=4)
1,260,000 *120%*2% 3,024
A2 ol 7,656 x10L «BAl 2t+2H 1,225
422 (FAH)
7,656% *1.5%8A| 2t x10€ «2H 1,838
2&5+g 180,000& »12& 2,160
HEL(HIRX2, XH2) 1,440
ANel=E(28) 50,000 «12& +2H 1,200
S¥NRsE 70,0002 «12& 23 1,680
=38l 68,500 68,500
Jl=3&H 68,500 68,500
201 LEr2 Y| 40,200 40,200
01 At 2t el b 40,200 40,200
Os&Hl 7,000
Oget=2ZH| 27,000
OsiEeel LA 50,000 «62& x2H 6,200
202 o4 4 24,100 24,100
01 =0l 24,100 24,100
O=2UWdA bl 24,100
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X ZH -
L= B

el

Holst =2
HY2LZH (FosiEn)
Jl=23tl

% 5 - 4
SN ED B (3H) - MEAY - BAS ol &k o8 &lgﬁ
203 € R F & 4,200 4,200
04 EASHEIRFAH| 4,200 4,200
OFNMSIERF=EH| 350,000 x12&

4,200




